. OlG/W\ Ol rm
Vi
F = R60N
F= 2 0]
ay= 06 m
= 2C0N
a4, = 0(2 /M
/ECEWU\ 02
M, =M
1 2 nq
Frag = Ry
F = F;' Ao Ln'l:El'ai/
/l O\'\ F- Mﬂ
360 0,0 o
v .
( Y.
o= 420N F= /120N




-
V F=420N
a,\= C?O(/w\ = O(g/w\
fi = LloN
QQ_: Z[:/W\I
FE = 28N
/z{g(“‘( { /_P:&em( J
N Mq:Ml M,=M
Frags oo —
a, = _Ef'{;’ﬂ/— M= B ooy = F-a
Lrl 03 H/l:LIQ.O-O(g q:__’L'L_
20- €, F
A= = 3360 2
: 280 1, L
2 24
ql-‘ 4(2 /m 0
= — C(z: 42 m
=



L st 59 /cv. 300‘\

F
c:> A %
A Ohm
Y F=28N
f=25N
O\’l: O,L(' /"
F=2[N]
a, = 1m
'@iﬁl/h‘ /? ~ \
- M/‘ - ML (RC.E(M( ;z
E"M’“E' A Mq:ﬂl*
Fra,= K = By [pr F. aLA!
Ay D,l: 25.(9{H Y
S CELLE R
Z A w 2
- A
FZ_:‘ 25/’ O{L! 2 /]
F = 0N
p— S
g:\o\ E_ W\o\\ va’[@& AON.



[Sﬁ- ECI/CV‘ 00

M atiantdy'
F=/8N
d> Qaj J\’l
A gem
Vh= 1N
ﬁ=A8N
o= Ll
F=%N
Q, = ¢ m
Efm /] QCECW‘ pg.
M, =T
1 2 lf“:”LJ
aq= g
_ E Qg M?.; Fz 1
0\4 = R
er 0,6 Y= ‘%‘ =2 4
= _,_Z__L— 7 )
A A& Q.= 2 N, =432 N/w\ﬁ
U
2’."12‘4 M\—? q/]" -Z(LI/W\
/
%\w\cn@ | 0, i J/ML\@ L4 m



